1A . B
—_ ;&]\
B IIAN
| B 90, 000 90, 000 100, 000 100, 000
- TN 11, 000, 000 11,000,000 6,200,000/ 6,200,000
WA 11, 090, 000 (A) 6, 300, 000 (A)
=~ X8
AEEH 1,900, 000| 1,900,000 1,600,000[ 1,600,000
Wap (FF8) ERB | 2,100,000 2,100,000 1,000,000 1,000,000
wAGATE)E A 1,000, 000 1,000, 000 800, 000 800, 000
Pk R = B 1, 700, 000 1700000 1,500, 000] 1,500,000
Hin & 200, 000 200, 000 100, 000 100, 000
% B At 6,900, 000 (B 5, (100, 000 (B)
I REE A 4,190, 000[ (C)=CA)-(B)| 1,300, 000|(C)=(A)-(B)
o B Of5 B &k | 22,182,476 ) 20, 882, 476 0);
A B O A% & &k | 26,372, 476/(E)=(O)+H(D) | 22, 182, 476 (E)=(C)+(D)
L ERILt ATk D ¥R if.%
(B8 T35 ¢ 03-49646664776) =X

BAR

— S BARZHBRZHRT ) FREGCHAHNEATEEBEVSLE -

S XERARBREETRESAATER - Hoy (HM) A - #e (780 A EHREAAL

HERELR -

ZFEAPRFHEBMFEXIIE  RAEENEFELREBEFHRANT TZN

e ARG TEER  FASHROFEGH -
W9 AREMIAREEE  FERTRELTHT

+ (B+A=60%) ;

il




